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1.	Introduction
The problem of UE scaling Scell has been discussed previously motivated by concerns brought by TE manufacturers. Discussion was concluded once and guidance was provided to RAN5 about the issue [1]. A second LS was sent to RAN1 [5] with a query what is RAN1 view about the issue. 
We have provided a solution [6] but an alternative solution based on limiting power for the UE is also discussed and proposed repeatedly. In this paper we discuss the issue from UE point of view. 
2. 	Discussion
2.1	Feasible RAN4 based solution for the objective
The problem is created when multiple cells have same priority as per RAN1 requirements in 38.213 section 7.5. This can happen between SCells for example when all SCells are assigned with PUSCH without HARQ or CSI i.e. just payload data. This problem is there also only when UE is maximum power limited. 
Observation 1: Problem of SCell dropping occurs when two SCells are configured with channels with equal priority and UE is maximum power limited


Figure 1. UE behaviour options with cell specific PCmax. 
The solution presented in [2] is to create a cell specific maximum power limit for the UE that could be controlled by the network. This is rather counterintuitive, why limiting the power for the UE would help UE produce more power in a problem situation that was created by UE running out of power headroom.
Observation 2: It is not clear how will limiting UE maximum power more solve a problem that was caused by UE not having enough output power? 
The presented solution relies of UE calculating the power and re-using the leftover margin for a cell that has lower priority. If UE is configured with 2 cells and there are simultaneously allocated symbols, the maximum transmitted power per cell is 3 dB less than maximum UE power. The Pcmax for each cell is the same as UE pcmax. Pcmax is set before power control calculations. Pcmax,cell is not pcmax,UE – n * 3 dB where n is the number of UL cells since then if only one cell is allocated for one symbol in time, the power would be limited unnecessary. In order the presented network configured cell specific pcmax to do anything, the set value has to be 3 dB lower than the UE pcmax. 
Observation 3: Cell and UE specific Pcmax must be set to 3 dB lower than UE pcmax for 2 cell case for it to have any impact on steering the power to cells with lower or equal priority. 
It should be noted that with tolerances in pcmax and pumax, the issue is much bigger since the configured value would need to ensure the re-used power does not get lost in the tolerances.  
The problem really is between two cells with equal priority PUSCH with data and no time critical control information. Pcell is always prioritized, or it is strange that network would care less about the PCell transmissions than SCell. Network can always not schedule PCell when SCell contains important information. With observation 1, we conclude that
Observation 4: In order the cell specific power limitation to work, the cell specific pcmax must be set to > 4.8 dB for it to solve the problem of scell dropping. 
Our view, as presented in [7] is that the problem must be solved where it was created i.e. where the priorities were set fort the channel in the cells. Network can easily assign higher priority channels to the cells it prefers of then not schedule overlapping grants for all the cells, or cells with equal priority when UE reports zero PHR. 
Observation 5: Network has the means to solve the scell dropping by priority or avoiding overlap[ping grants when UE is reporting zero PHR.    
An alternative is to create a parameter to adjust the priority of the cells by network, as we proposed in [7].
Proposal 1: Solve the Scell dropping issue with the solution that address the problem source i.e. equal priorities between the cells. 
It should be noted that no matter what the solution is, the UE should be allowed to declare if it supports this new network controlled parameter.
Proposal 2: The new parameter for impacting UE power control should be optional for UE under a capability. 
Conclusion
We discussed the problem of sudden unexpected SCell dropping from UE point of view
Observation 1: Problem of SCell dropping occurs when two SCells are configured with channels with equal priority and UE is maximum power limited
Observation 2: It is not clear how will limiting UE maximum power more solve a problem that was caused by UE not having enough output power? 
Observation 3: Cell and UE specific Pcmax must be set to 3 dB lower than UE pcmax for 2 cell case for it to have any impact on steering the power to cells with lower or equal priority. 
Observation 4: In order the cell specific power limitation to work, the cell specific pcmax must be set to > 4.8 dB for it to solve the problem of scell dropping. 
Observation 5: Network has the means to solve the scell dropping by priority or avoiding overlap[ping grants when UE is reporting zero PHR.    
And made one proposal:
Proposal 1: Solve the Scell dropping issue with the solution that address the problem source i.e. equal priorities between the cells. 
Proposal 2: The new parameter for impacting UE power control should be optional for UE under a capability. 
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